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Directions (Questions 1-123 Smdy the passages below and answer the goestions thar fallow each
paEsNage.

Passage |

Entrapreneurship & one of the most popular clubs at US business schools these days, and the fisld s
gaining mamentum. As more aducational institUtions dive inte social entrepraneurship, wa'd lke lo
share with them and their studants ana of the primary ingrediants for tuming promising ideas Into
success slorfas. With more than a decade warking with field-based social entreprenaurs from the
diaveloping world through our Global Social Banedil Incubator, we feel our méntarship pragramma Is
tha sacrel dalce, Mabitors Malp sobial entraprensurs Build hair businessas, often by l@arhing with Ihem
haw loovercoms obstackes thal rangs lrom govemment anlipathy and b dearth of distribution channels
to @ lack of talented human capital. These ae raticslly different from the challenges they have facad
in the|r Silicon Vallay careers: Forty-execulives, financiers, consultants. and venture capitaiisis shars
thair anlreprensunal experdise and business acumen wilh soosl entreprensuns i the poorest countnes;
helping them expand revenuas faster than expanses while ingreasing the number of lives affected.
Soucial entarprises only help the poor If they'ra sustalratils, and they help more people If they can soale
up. These advisars have founded Nasdaq companles, funded staftups, snd run divisions of wall-known
comparies, They exce! al what we leach - value proposillon, business models, operabans, grnwth
plans, and a clear presentslion to polential nvestars, Thay have 1o lislen well, be cullurally ssisilive,
and tretts rapporl and trust, Thay offen are humbled by efforts requinesd to expand soclal entetprisss
in markets where cusiomers live on less than 34 a day - the "Base of the Pyramid”. Linlike menioring
ayoung, eagai Ammenoan slarup - for whom the best infrastruciure, lsohnolooy, resources, and lnancial
capital ara within relativaly easy reach-mantaring starups in the develcping world reqguires & diffarent
perspaclive for hese ssasohed leadess. One of our social aplreprefieurs wenbed o make snd distributa
soap to-suppor "sium worren® in lsunami-devastialed Southern India. His manior helped him instead
siart a home-carg ass:stanco business by demonstrabing that leveragimg the womaen's axisting home-cars
skills was a better approach than launching an untested soap business, Mentors moutinaly say they leam
more from soclal entrepreneyrs than vice varsa, They feel pnvilaged to work with gmbitious peaple
committed (o making an impact on the lves of the poor,

1. Itoould be inferred from the passage 1hat
(1) aclubnamed Entraprenaurship’ is gaining populanty amang studenis of US businass schoals.
[2] & chain ol social clubs ramed "Eitepreneurdhip’ are-expanding Iheir fatwark in US business
schoods.

(3) mors and mare eddcational Instilutions are encodraging students (o form anlfsprengurship
elubs.

(4) many US busgingza schools have bagun o offer soglal entrepreneurship programs as part of
their curriculum.

1. Which aof the following factors is/ara kay (o he success of social entrepranaits?
4 Gopod Mantorship
B Sustained profitabiiity
C Business eas with great polential

(1) A only (2) A& B (3)B&C (4)A BEC
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3. Which of the following statements aboul Global Social Benafit Incubatar islare true?
(1] It runs businesses manufactunng fems of particular use o the poor people;
(2} ‘i s an organization formed by a team of experlencad experts from diffarent figlds’ with the
common goal of nelping social entreprencurs in developing countrias.
(3) Wz primary lask Is lo ampanel foundars of Nasdag compdnies:
(4) Its goal is to help entreprensurs to lsam to listen well and be culturally sensliive fo their
customers needy,

4. ‘What gre the achisvemaents of the ‘menlors’ referrad to In the passages; in their pravious oareers?
A Hawng mentored young, esgar American start-ups to great success
B Having bisan in responsible corporala posilons in leading companies.,
€ Having sisred a successtul home-care assistance buangss i tsunaml devastated Southam
[rdia.

(1) A only (2) B only 3 A&B (1 A B&C

Passape 11

Any gquery on how costemer-friendly. are the digital platfomms for banking” avakes a-sel patlern pf
responises. From the basic issue of urban vs rural user profile being different: to issuss like 'the
tsch-sawvy rigture' of Gen-Y users as compared lo serilor citizens being 'lechnology-use challenged',
s also sacurily Issues of the digitized platfarms - these are |he standard reactions. There's
converience-banking for the customer banking begomes free of the canstraint of ‘branch location” and
the restnicion of ‘working hours and holidays' - but it comes with a pnica teg: & has to evalve and ba
able lo mesl he challeriges whith efgp up with unfailing regularity. “This is the bidgest challenge for
these new platforms. how do they manage the frade-oll betwsen Keeping the on-line transaclion
exparience simple and user-friondly and at the same time, makes sure thal the customer floes nat suffer
lossas diue to fraud,” says the Chief Information GHicer, ING Vysya Bank While intemet and moblle
banking platforms have hasn successful with educaled customears o urban and semi-urban areas; being
uset-liendly is an on-going challenge. One of the kay ssues s developing locs| language support 85
also 'device suppart’ for ihe basic handsets that are used widely by customers In rural areas. Many of
the ‘unbanked’ potential rural custamers may nut be educated or have the access to broad-band/Smart
Phones. This needs o be factored ino "To ensure thal digia! gatforms are tndy customer fendly,
Miteracy and lechnology nesd o e adopled as miajor drvers, aven . as Indian banks conlinue (o rollout
mabile and inermet-based banking servicés " says tha CEO of WINIT. Co-Founder and CMO, Xemgo
feets that Internat and mobile technology thal powers Indian banking for a 'branch-less’ exlstence (4
truly ‘cuslomes-frandly’. "Dighal plattorms, Intemet and Mobile, are baing seen as sxlramely usslul for
banks to get cusiomer cantric and usar-friendly.” he adds. “Indian banking can po longer afford to
dperale 8 'one-size-fifs-all kind af fervice modal. || started with privatization of banks bom 18903
anwards, and now, expeciations of highet level ol services from the consumer means banks have to
'go bayond' 1o win and retaln them Digital platforms provide this opporunity at a cost-advantages, so
that banks can got customer-centric and friendly
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5. What are the factors afiecting the extent of usags of digital platiorms for banking?
A Ags of the customer
B VWnelher the faclity is sfualed in & clty or viliage
€ Howsimple and userfrigndly the transactivn s

(1) A& B (Z)B & C (A SC (1A B&C

. ‘Which of the joliowing siatemenis are rue as per the passaga”
A Dueto digitization and the extenkive usages of moblle phores oven In miral aréas, banks
would soon b able to do away ‘with having branches.
B With digitization, banks ean actually focus more on providing bettier sarvices to customars.
C Usago of mabile banking sarvices gats limited by tha age of the handset also.

{1y 8B orly (2) C anly. (3 AR B )A B&C

7. Which of the fallowing stateiments isiare not true?
A The pessibillty of digita! platforms Belng misused by hackers is real.
B LUneducated customers ara less fikely to be comfortabie with mobile banking than educated
anes,
T The presant digital bankina =chnology in lndla needs no improvemanis In the near future;
gs the rural customers negad time to calch up with the urban ones In terms of s usage.

(1} A only (2) B only (3) © only (4)B & C

8.  What is implied by the phrase "onessiza-fits-all” in the context of he passage?
{11 Indian banks' ATMs are all of a standard siza.
(2)  Ideally all mobile handsets should be of the same lype for optimal usage of mobile banking,
(3} Both povate-sector and public-sactor banks have dentical digital servces on offer o their
pusiomers,
4] None of these

Fassage 111

Leading consumear goods companies across s=clors are making subtie changes in bonus struclure as
thety look to drive perfarmance in the tough market condiions they are facing since Last year, and retain
top performers. Companies like Dabur, Godrg| Consumér Products, Phillps, Samsung, Spencer's Retal
and Panasome are waaking the parametars on which they sssesa and malie bonus payouls, indreasing
the frequency of payouts, and the variable pey companenl In 1olal compensation. "Theres & no paint
In cheating or punishing employees by keeping parformandée matlces which are Iratlonal or nol
ralavan!, aspecially sinca thé markel and way of doing business has changed a (ol in the past fow
months," says the Dabur Indla Exedutive Director (HR), Godre] Consumar Products has removed the
cap an borius Baming, whersby (he lop lakanl can fill ther kitly handsomely. Top achigvers make up
1o 300% 1o 400% of their targst bonus armount, and Gan sven eam mors than the lixed pay component
by way of banus, says the HR head of Godrs] Consumer Products. Companies’ kres-jatk reactian an
Botus structures i saen as baing driven by bolh performances and Lhe fised to retain key talsnt, who
may olherwlse fesl the brunl of poor company perfomancs.
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The alleration of eompansation strusture is also aimed ai stopping attritlon among top perfarmears,
sifice averall vartable payout cauld be impacied due (o low business last year, says the HR constllancy
Marcer's Director (Information Produci Solutions), RP-Sanjiv Goenka Group's retall flagship Spencar's
Relail 15 introducing & new bonus soheme linked 1o both perlermance and relention only for the GEO
and business heads, The group's president HR says the fop managemeant can aarm 40% to 50%, of their
cast to company as this speclal bonus if ey are able o meel revenue and prafitabiiily tamets, and
stay with the company for five years. "The special bonus will accrue to them on a yearly basis but they
will get it aftor fiva years, This way, wi hopa to drive both parformance and retain critical senior talent
in & rather bad markeal,” he says

. Whal are lhe Taclurs lebading to consumer goods companies making changes in banus pay
structures for employees?
A The need ior baing subtle in this aspact.
B The decreased need for punishing the employees; given the changad markel conditons
€ The markel conditions have gof iougher.
(1) A&C 2)A&B {BhAB&C (4) C only

1. MWhat benefits do employers-axpect by “tweaking” Iha bonus payoul mechanisma?
(1} MNane of the employees would quit thelr jobs.
(2] The tap perflarming exdculives in all the: consumer goods coinpaniss across nda would
surgly continug to serve the same organizations for at laast five more years,
(3] There will be improved perfarmance by the employees.
(4) All these

P Itls mplied in the passage thal
(1) ths proposed chartiges in bonus structures of companies are neither well thought out nor
rational
(2) pernodic incremants in satares ol employess this year have bean lower than before.
{3) increasingly. salaries are golng lo have bolh fixed and variable companenis,
(4) Al thass

12.  Which of the following statements Is nat a possible inference in the context of the passage?

(1) With the new bonus paymen! structures coming into pace, all the comparnies 1 the conswmer
duraties sector will show improvad parfomances.

(2) The oullay on bonus payments by all companies in the durables sectar will increase in
comparigon to last year's payouts,

(3) The bonus schame Being introdused By BP-San|iv Goanka Group has the best chance of
success in retmining top performing executives lor at least five years

(4) Therswss a drop i business gcross the consumar durables sacior las! year; lesdmyg to bomis
paytnents of even op performers gﬁﬂng_nﬂaclﬁd_
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Directions (Questions 13-18): Fill In the blanks.

13. '"Wehavaio In our young men and women a sense of discipline, which |8 8 _
lar progress and happiness.

(1) genamte, concamitant (2] insill, nead
(3) produce, hecassily (#4) Intultaks, pre-raguisile:
4, The pariners broke off as they found each other ol breach of
promise,
(1) faully, sevare (2} respansible, serious
{3) guilty, flagrant (4] acoused, rigid
15, We must prevent endangered wild animal species from becoming in ordet that
our fulure genermtions may the greal diversity of animal Iife.
(1) rare, ascape 2} outdated, know
(3) valatils, nolice {4} exinct, enjoy
16, The company's plans 1o its capaorty to generate more renewahle energy does

expose s profits/ reveniss to policy changes in the offtake of renewable energy as also
short-lesm powes Lariffs.

(1) inerease, fluctvate (2} expand, increasihg
(3) 'downsize, maximizing (4) sxpand Muctusting

17. The In eamings apart, It is noleworthy thal a good part of the decline In this
stock |5 also o a de-rallng of the stock’s price-sarmings multiple from nine times
o less Ihan four now,
(1) increasing, due (2} spurts, atir/buled
(3) decraasa; partly 4] volalility, attributatie

8. Thu. correction s a goed o a2dd the bluechip Sun Phamacauticals
stock o your portfolio,
(1) engoing. opportunity (2} undergoing, chante
(3} running, attampt (4] prasent, fime

Pireetions (Questions 19-21) Reéarrange the jumbled alphabets in the following four options and
find the otdd word among {hem.

19. (1) PTEELHNA {2} ERDE (3} NOKYEM 14) NBAAAN
20, (1) TS| (2) DTASN (3) PUMJ |41 THRIS
2. (1) NURYAAJ (2) HRCAM (3 NJEL {4) PWOLLI
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Directions (Questhons 22-25); Eucl of these questions bas & test portion followed by four aliernstive
supimarkes. Chose the option that bist capluris the essipee of the et

11, Globalization and tourlsm have bacome a deadly mix for Maasal, Kenya's indigenous people.
Thay are under threal from prassures outsida their enntrol— modermnization @nd global warming.
The Hmited land avaiable o thom has been affected by climate changs. In thisie drive fore prafil,
holiday oorporations have devastated the pastoral life style of these tribes.
(1) Maasal ars the most authentic pastoral tribe of Kenys.
(2) Global warming and tourist infiux has started influencing their life styla,
(3} The Maasal's nalural way of e s belhg compromised by the spread of modem civilization.,
(4) The tribes are belng showcased far the growth of tounsm in Kenya.

I3, Tha Stuxnat worr Is [Hae firsl compulss virds that causea tangibla haqm and bas run amol in e
conlingims. Experts believe thal It was created with (he explicit alm ol dissbling the Iranian
nuclear plant by some govemment The finger of suspicion has, naturally been pointed first at
lsrant. Tne Stumnat worm has the potential to take over industrial coptrol systems.

(1) Like real wartare, aven tha most carsfully aimed weapon in computer warfare leaves colialeral
damage. '

(2) Stuxnet worm has been created 252 war weapon o destroy specific targets.

(3)  An unidenified government is supposed to be behmd this worm.

(4) Due to some shoddy handling, the Stuxnist virue has spread all over the world instead of
being tonfinad lo lhe area L was intendad lo,

14. Lifeis the grestest of all games, The danger lies In treating It as a trlvial game, a game to be taken
lightly, and a game in which rules do nol matter The rules matter & great deal. Besides, winning:
the gamse is not the chisf end. The chief end is to win fairly and Honorabily. The spiril of the game
matters much more than winning or lasing.

(1) Life is the best of all games but is fraught with risk i played casuslly

(2) Life, ke any of the sarlous games, should be played with carain set of rules,

131 Marely winming the game s not as imporiant as playing it fairly and squarely.

(4) Lieis:a game whsre achieving goals is nol a5 important as tha mesns used o achlsva tham,

I3, Pre-cyiling ls 3 form of wasle minimization. || wvolves reduding the use of outer packaging and
nstead opting diractly for what's insida. This would involve buying things loose instead of opfing
for pre-packagad producl, bringing Sne's own sohlamer or bag end shopping for locally produced
things: The rationafe is 16 accumulale less waste,

(1) Selling unpackaged things at local markets can Hﬁ«ip in reducing waste.

(2) Bringing one's tags instesd of asking for plastic bags can check the accumulation of wasts,
(3) Prescycling is the process of aliminating the need for packaging, for tocally ﬂmﬂuﬁﬂd goods.
{4) Practica of reducing waste by avoiding bringing home the packaging is pre-cycling.
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Directions (Questions 26-30): Rearvange the following jumbled word and select the word which s
appisite In medning to the rencranged word,

26. TERWNI

(1) ‘eloud (2}autemn (31 spring (A) sumimer
17, TRAHDE

(1) hasitation [2) broader () wizaith (4) lova
K. SEFTERN

(1) nearby (2} clysanéss {3} absant [4) masker

29. HLRUSEST
(1) gracetul |2) manegement (3} apologise (4) humane

3n. OLSPCYUMOR
(1) extuse {2) admission (3) voluntary (4] Irregutar

Divections (Questlons 31-35) Choose the order of the sentences marked A, B, C, D und E to form
# logical paragraph.

31, This {8 the lundamental concept of a filler,
Thé action of a light filter s o stop lght of certain colaurs.
Alight, Ihe filter appesrs coloursd, by the colour which it absorts,

Il shoild b Kapl In mind whanaver a Tiller s 30 uséd,

m o o W >

That Is. rays of some colours are allowed 1o pass through freely, while others are parislly
ar whally absorbed,

(1) ABCDE (2) BECAD (3) ADCEB (4) BOADE

32. A The moere fundamental and far-reaching a scientific theary, the more speoulalive it i likely
to he

B  Bul speculatlon s ds vary life-blood.

€ A malure sclence tnies |o ammanga facls in significant patterns to ses the refationship betwesn
unratated aspects of the universo,

0 |dle speculation has no place In sclence:
E iz eroneaus (0 bebeve Inal science 5 only concerned wiﬂi pure facts,

(1) DBAEC (2) AECBD (3) BDECA (4) AECDB
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33, A Bulthis lime a curious philosophy has emerged,
B But it seems 8 regulatory solulion is yet far away.
C  Ii'says that the more We kncw about & problem, the more uncertainly is iniroduced and the
mere | naads 1o be studiad.
0 The recen) debates an aoid rain have pitted the environmeantalisis head (o head against
industry.
E Asaresull, we know more about acld raln and lis effect than ever befora.
(1) ABDEC (2) DACE3 {3) CEBAD (4) BADCE
34, A Seconids later. the glaning object swept past and he theugnt he had autmancouyred |
8 Whnile llying over ensmy lerritory, Jones received the warning of an oncoming missie.
C  He was proved wrong when he saw fhe verdical 1all fins an fire.
D Wi!hﬁ_ut wasting umﬂ,'he.slnmmlt:d the throtlies fooward and made the plane roll inte a high
spasd (urm.
E Hardly had he respaniied to (he message when he aclually saw whalever he dreadsd most,
(1) EDCBA 12) BCDEA, (3] DAECH (4) BEDAC
35. A Afim director has o transiate the glven scenano into film language.
B The novelist works i the written word, -
C  Bul the film diretior works jn plotures, in visual movement
0 The pictures may be supported by speech, sound and colaur,
E But primarily the film s a plctorial art
(11-ABCDE (2) CDEAB (3] BCDEA (4) EDCEA

Directions (Questions 36-400: Fill in the blanks.

36, Rajesh has come up @ probledq).
(1] 1o (2) for (3) against (4) ima
37. He sucoeeded In getlng possession his land after a long court case.
(1) Fot {2) 1o {3) of () wilh
34, Some peaple revel gossip.
(1) at (2) wilh (3] by [4) in
39, Even I i rains all day | 'will not be able 1o my oumey.
(1) pul by (2] put cut (3) put off {4) put away
dih, Thers 5 ar excapion aunry nile.
(1) on (2) 1o (31 In {4) for
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A Charered Accouriant applles for a [ob in wo firms :I'.' and Y. The abillty of his being sekecied
in firm X is 0.7, and belng relected at Y is 0.5 and the probabillty of al least one of his
applications being reiected 15 0.6, What is the probablility thal he will be selactad in one of the
firms?

(1) 0.2 (2)0.8 (31 0.4 (4.0:7

In a tssl consisting 150 guastions carrying 1 mark each, Saurabh answearsd 80% of the first 75
quastions correctly. What percent of other 75 questions doss he need In answar cormeclly lo score
60% owerall?

(1) 20 (2) 40 (3} 50 (4) 60

During one year, the population of a town ngreased by 6% and during the next year; the
population decreased by S IT the @lal populBtion 15 9375 at the &nd of e ssuond year, then
whal was the population siee in the bBeginring of the fifsl year?

(1) BOO0 12} BH00 (310000 (4)10500

A hostel has provisions for 250 students for 35 days. After 5 days. a fresh ballch of 25 students
were admittad to the hastel. Agaln after 10 days, a batch of 25 students laft the hostal How long
will tha remaning provisiens suryviva’?

(1) 18 days (2} 18 days (2} 20 days (4) 17 days

Drn-fourth of sixky parcent of 8'nomber 15 equal o twi-flth of twanly pgorcent of anothar
nuimber, What |s the respectiva ratic of the fiesl niimbar lo the second number?

(1) 8.:15 12) 5 - 8 (338 - 13 (4]4:7

A sum of ~ 53 5 divided among A, B, Cin such a3 'way Ihal A gets 7 maore han whal B gels
anid B gets 8 mare than whal C gals. The ratio of their sheres 18

(1) 15 . B : 30 (2)18:.25: 10 (3y25 .18 : 10 (4) 16 :9; 18

A tank {s fitted with 8 pipes, some of them that fill the tank and ofher pipes are meant 1o empty
the tank. Each pipe that fill the tank can fill it in 8 hours; while each of those that ampty the tank
can amply 1L in & hours2 Al Ihe plpes are kepl open when' tank s 1l 1wl ake-axdcty § hours
tor fhe tank to empty, How many pipes are ffling thé tank?

115 [2) 7 {3} 8 @) 4

Tha spoed of 2 boat In sl waler s & kmm anid the speed of the stream is 1.5 km/h. A man rows

to o place at a distance of 22 5 km and comes back to the starting point. Find the total time taken

by nimy
(11 8hours {2} 4 hours (3} 7 hours %) 2 hours
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49, A candidate s required ‘o answar 7 questions out of 12 questions which are divided Into two
aroups each conlaining 6 guestions. He is not permitted to attempt more than b quesbons from
gach gropp. The number of ways in which he can choose the 7 guestions is

(1) 780 (2) 640 (3) 820 #1720

50, I 20 lines ars drawn in a plane such that no two of them are paraliel and no thrae are concumant,
the number of points In which they Intersscl each olher 5

(1) 220 (2) 180 {3) 250 (4) 120

51.  An electrician has lo repair an electric faull an a pole of helght 4 m. He ngeds (o reach a point
1.3 m balow the top of the pole to undertake the repair work, Tha length ol the ladder thal he
should use, which when Inclined at an angle of 80" to the horizontal would enable him 1o reach
the required position ls '

(1} (@)1 m (2) @AVEWI0 m (@RS m (4) (@3 )5 m

52. Amvind began a busingss with 550 and was |ained alterwards by B with 330, When did
8ri| jain |1 the profits al the end of the year were divided In the ratio 10:37
(1) Afs 4 months {2) After 8 monihs
(3), Aftar 4.5 months {4) None of thesa

53. Thrae partnars A, B and T agree 1o divida the profiis or losses in the ratio 1:50 © 1.8 ; 2.25. |,
in a particular year, they gam a profit of 86000, find the share of B,

(1)~ 21000 [2) 27000 (3} 18000 (4] 22000

54, A money-lender, lends a part of his money at 10% per annum and the rest at 15% per annum
His annual impome ks 1900, However, if he had interchanged the rate of intarest on the two
sums, he would have aemed 200 more, The smount lent will fatch whatl amownt at 15%7

(1) 6600 (2} 4000 (3) 10000 (4) 4400

83, A car travels 25 Kn an hour fagtsr than a bus for a journsy of 500 kil If the bus lakes 10 hours
more than {he car, then the speeds of the car and the bus ane

(1] 25 km/h and 20 km/h {2) BO kimih and 28 km'h
{3) 25 km/h and BQ kmih {4] None of these

S56. A manufacturer of fridges producad 600 units in the third year and 700 units in the severth year.
Assuming that the produation Increasas unifarmiy by & fixed numbel every yaar, the lotal production
in 7 years will be

(1) 4537 (2)4375 (3)4753 (434735
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£7. A man boughl two packels of (offess, the same number in each. The first, he bought &t 5 paise
each, bt 1he second at 3 for 13 paise. He then mixed them all togefhar and sold them ot 70 paise
3 dozen. His gain s

(1) 26% (2] 12% (3)24%, {4} 16%

58, A manufaclurer salls a pair of glasses o a wholesale dealer at a prolit of 18% Tne wholesaler
sells the same to a retaller at a profit of 20%. The retalar in turn sells them 1o & custamar for
- 30.08, thereby earming a prafit of 25%: The cost price for the manufacturer 15

(1), 16 (2) 16 3 W (4) 18

50, A manufacturer of a certaln em can sell all he can produce at the seling price o B0 each. Il
cosis him 40 in materials and labour lo produce eack item and he has overhead expenses of
3000 par week In order (o operale the plant. The number of units he should produce and ssi
In arder fo make a profit of at least 1000 per week, fs -

(1) 200 (2) 250 (3)300 (4 400

0.  The average marks of a student in 8 subjects ate 87. Of thesa, the highest marks are 2 mara than
thie one next in value. If these two subjects are eliminated, the average marks of the remaining
subjects are 85, What ig the highest scare?

(1387 (2) 94 (388 (4) 86

Directions (Quedtlons 61 - 643 Ench of these hus o question Tollowed by iwo statements numberd
v | oand 1L Mark snswor us

(1) Wsiatemant | alone s sufficient bul sialeimant || dlons i nol sullicient lo answar tha question:
(2} f statemant |l alone 5 sufficent bul statement | akone is not suffioient to answer (he queslion.

{3} o bath statemants | and | together ars required to answer the quaslion but reither statement
alane I8 suflickenl

{4) f statements | and |l together are not sufficient to answer the question,

‘1. |5 Rahul aldar than Satrav?
I Sachin is four years younger than Saurav and two years youngar than Rahul
Il.  Average of Sachin and Saurav is equal 1o the age of Rahul.

2. How many books are there on & caain shall?
I. I four books are removed. the pumber of books remaining on the sheff will be fess than 12,

1 If three maore books are placed on the shealf, the total number of books on the shell will ba
mare thar 17,
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63, Are somie hooks water bottles? It i given that "all pans are bopks".

b,

I.  Some pens are copies.
I, Al coples are water boliles.

In how many days will A, B and C finish a work together If A finishes the same work in 10 days
while warking alone?

I, Als 15 llmes as efficient a5 B while 8 is 2.5 limes as efficient as C.
. Combinad efciancy of any lwo persans amaong A, B and C Is Iwice that of the third person.

Dircetions (Questions 65 - 69): Stady the graph to answer these questions.
The graph represents the production of cars in lhousands over the glven years,

b5,

i,

4.

40 owe Marutl == [ heyrolet —a— My indai

Qtﬂ.lﬁllﬂl:l& rlﬂEl‘F lmlmnﬂlﬂﬁ‘lﬂlﬂlﬁ

Whal is fnie approximate average number of cars manufactured by Hyundal aver the given years?
(1} 18500 (2) 18650 (3118540 (4)18100

In how many years s the number of cars manufactured by Maruti less than Ihe average number
of cars manulacilred by Chevrolst over the glven years?

(13 (2) 4 (3)'5 (4) B

What pargentage of the average manyfactured units of Hyundai and Chavrolat in the year 2010
does Marull form If its (Maruti'e} production thal year was 30%: less than that shown in the graph?
(1) 21.5% (2) 22.6% {3)19.7% (4) None of these

If the total average production of all cars Increases al Ihe rate of 10% every year from 2011
anwards, what will ba the average production in lerms of cars produced in the yrear 20147

(1) 20187 (2) 21386 (3122184 (4) 23764
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69, Find the wmovar of Cheviolet car company in. 2013 if the lumover s 3 = 10%n 2011, The
production is going o increase by 109% every yaar while the inflation will also increase the cos!
by 10% avarall in 2013 as compared to oost of & car in 2011 (Assume that all the units produced
are sald)

(1) 3983 = 10° (2) 3965 = 10" (3) 3644 « {00 {4) 3815 = 107

Directions (Questions 70 - 730 Stody the graph o answer these questions.

Ramesh spands his yearly salary on two lypes of expenses and saves the mn‘ialmng amolnt. Given
below is the graphical representation of tis yearly salary snd expenses over the four year period,
Salary= Total Expenses + Sevings

Total Expensas = Regular Household Expanses + Intldental Expansss

1, 1 £

39 - (e,

180 4 et
=420 -

180, 1 incidental
BO - ARpRiTs
&0
a0 H
20 Sy

o r R L2

Year- | Year -l Yaare i Yaar- W

M, IN'=2gulat household axpenkes as o pefcehlage of salary excead BO%, then ihe living style 1 that
yaar 5 sald to be lavish For Ramsash, the lving siyle has been lavish in all years excapt

(1) Yeur' | {2) Year Il {3} Year N (4) Yesar IV

71.  The ratio of incldental expenses to salary has baen the highes! in which year ?
(1) Year | (2) Yaar I (3} Year i (4) Yoor IV

7. What is average manthly salary of Ramash over the four year pirtiod (in - 000) 7
(11 108 (2)12.7 (3)14 8 (4)16.8

73, Inwhich year was the saving rate the highest?

, . Suvinps
Nole: Saving Rale = S 100
(1) ¥ear | (2] Year 1 (3] Year M (&) Year IV
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Directions (Questlons 74 < 771 Stady the graph (o siswer these questions,
Tolal whaal proguction In all e countries = §0 lakh 1ons.

Production of whaat in differem
caunkries

Indatiesla
1%

% Produoction SCletific vi Comesniions] Methody
1 ot Methosd ll:m_nmlnmrl-ldh:ﬂ

o

T4. What is the difference between the production (in tons) by sgientific method and conventionral
method In Indonesia?

(1y 2.3 lakh tons (2) 2.5 Iakh toos (d) 2.8 lakh tons (4) 3 lakh tons

73. Whal is the average production of wheal (in fons) by scientific mothod for all the countries?
(1} 3.1 lakh (2) 28 fakh {3)4.24 lakh (4) 3.7 fakh

76 What is the ratio of production by convantional mathod in Palistan to that of soentific mathod

iri Japan?
(i) 9 51 G (@) 44
o {2) 160 {3) 260 7T

77. Tha production by sclantifie meathod in Ching is appraximalsly whal percent greater than Lhe
production by conveational melhod i Bangladesh?

(1) 130% |2) 135% (3] 150% [4)140%
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Direetions (Questions 78 - 80): Two gquantities A and B are given in each of the following questions,
Mark afiswer o

(1) ff Quaniity A s greates than Quantity B,

{2) If Quantily B is greatar than Quanily A

(3) f Quanthies A and B are equal

{4} If comparison cannol s made:

78, A circular apple pie with a cneumferance of 18" is cut Into 9 equal slices. The slices are ail ol
starting at the contar of thie pit oul 1o the edge of the cnust.
AL Tha lenglh cf the arc formad by the Grust of one slice 8l its outel edyge

B. 1.5

9. TOW of the studants snroflled n a chamisiry class pessad theinal akam.
A The rallo of Ihose whao faled o those passed.
B. 36

$0. A bag canlains 6 blue marbles and B red marbles. Two marbles are selecled at random, with the
firsl sslected marble being replaced 0 the bag belore the second marble s drawn
A,  Probability of drawind a red followed by a blue marble.
8. Probability of drawing a blue followed by a red marble.

HI. Two man and we womesn ar playing cards and are ssaled arolnd a sguare table n the-EsslL
West, North and South diredlions of th& lable but nol necessarly In this ordar. No womah |s
faging East. Also, persons silting opposie 1o each other should also be not of the same gerider
One man s taorg sauth, Which directions ame the women facing?

(1) Eastand Wesl
{2} Southand East
{31 North and wes!
(4] Morth and South

A2, Razad the lolowing informaticn th answer the guastan

A B, G0 E, F and G are seven members of a fTamlly, Each one of them has a different
profession-dodior, Bacher, lawyar, enginesr, architect, CA amd banlker and their incomes ar
differant. Thers are (wo marrled couples In ths group. C I8 the doctor and sarns mors thin the
engineer and the lawyer. E ls married to the CA and she gams the lsast Ne fady Is eilher lawyer
of engineer. B, the teacher, sams less thar A, the banker. G is marmied 1o B and he earns more
than B and A, F i3 not the l[awyar. The CA sams less than tha lawyer but more than the banker

Al legst how many mala mambers are hars in the family?

(1) 3 (4) 4 {3) 2 (4) 5
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§3. Ram stars from his house on eyole and goas 10 km tovwards Nonh-East He wms o the left and
cycles 8 km, then he tums towards South-East and l‘.'yl.'JE!E-.fﬂl‘ anﬁihsi‘_ 10 km. Finally, he tums
towards his house. Using the data ghven in the sbove quaestion, if Fam is cucling at tho spoed
of 16 kmhour, how mdch ms dogs he Eke 1o come Back homs?

(1) 2 hours 15 minutes
(2] 2 hourg 25 minutes
(3) 2 hours 30 minules
(4] Z hours 45 minutes

K4, Aarll, Bhooml, Chunariya, Damyanti, Imll, Faulad and Ganeshi are seven friends siiting in a
circle facing the centre. Imll s in the nelghbourhood of Damyeant and Aartl and seated between
tham. The person betwesn Fautad and Chunariva s nol Ganeshl, Faulad is to the immedkate nght
ot Amrli, Gangshi and Azarfl ‘are sealad opposite 1o eadh olhar Who are the neighbours of

Bhoomi"
(11 Ganeshi and Aarfi (2} Imii and Faulad
(3} Chunariya and Damyanti (4) Faulad and Chunariya

£5. X and Y start moving towards each other from two places which are 240 meftres apart on the
-samy road. After walking 60 metres, X turms left and goes 20 metres. then he tums to the nght
antd goes anothar 40 meltres. B ther tume right and comes biack 1o the same road on which he
had started walking. f X and Y start with Ihe same speed, what wolld be the distance betwaen
them now?

(1} 40 matres (2) 60 matres (3) zaro metre {4) 20 matres

86. Six parsons namely Akankshs, Bhairyl, Chandrika, Damyant, Imartl and Phoolan are sitting on
the ground in @ hexagonal shapa. All the sides of the hexagon so formied are equal in length.
Akanksha ls nol adjacent to Bhalryl ar Chandrika, Damyantl Is nol adjacent o Chandrika or
Imary, Bhairvi and Chandrika are adjacent, Fhoolan is in the middis of Bamyant! and Chandrika.
Akanksha is closest to Damyants. If ons naighbour of Akanksha is Damyanti, who s the othar
naightour?

(1) Bhairvi (2} Phoalan {3} tmarti (4) Chandrika

Dirvctions (Questlons #7-91) The questions ghven below  buve o statement Tollowed by two
comclusdons | and 1L Consider the stutement and the Tollowing conclusions. Declde which ol ihe
conclusions follows from the stalement. Mark anvwer as

(1) ¥ conclusion | follows

(2) i conclusion |l follows

(3) @ nelthar contlusion lollpws
(4] i both conclusions follow
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#7.  Swatement: Accoeding o 8 recent report a glass of wine daily for women with breast cancer could
boost the success mile of treatmet
Conthe Tl
| Women taking a glass of wing dally Wil nevar suffer from breast cancer
I A glass of wine will cure the womean suffenring from breas! cancar.

B8, Swtement: National inlegration ks necessary because here are diversities In India
Cainclusions:
I India is a colntry of people with diverse cultures, different languages and differen! social
and aconomic Sat-Lps:;
Il Ours is & disintegraled ration,

89, Srtatement: A Brahmin prest = expecied (o be able o recite at least one of the Vedas,
Conelushonst
| Any person who can reclts the Vedas |s-a Branmin,
Il Retiling the Vedas Is & Brahmin's obligation.

9. Statement: According (o a prediction our planet would nol be able (o suppert the human population
for fong as population grows at geometric rates while food supply grows at arthmetic rate.
Conelusions:

I Unchegked growth in population is goung 0 pud strain on pur food supply,
Il Earlhis facing the threats of faming in future due 4 growing population

G0,  Statement: A real nend s one who walks 0 when the rest of the world walks out.

Condlusions:
I A trie fognd stays with us thmu;ih redgh wenlhar while the fair weather frends legve us In
thss furch,

I Adversity Is the tesi of frue frisndship.

Birections (Questiony 92-94): Study the Informatlon below 1o answer (hese guestiony,

Flvia female friands namely Tulsl, Sunanda, Malini, Arushi and Prerna and five male fiends namely
Al Karan, Pran, Sudarshan and Tanh sal togelher on the two sides of 2 reclangular table for a quiz
compelition. Females sat allematingly with and opposite to male members. Sudarghan sat in & central
pasition, Arushl sal opposita fo Atul Euﬂ_ﬂnda sat next to tha night of Sudarshan and at fourth place
froon Atul, Preme sal o the sl of Arshi ot the extrame and. Nalini sat two places from Sunanda jo
her laft and Pran sat opposne io Sunanda, Karan was scated three places from Prama to her right.

92, \Who sat opposita to Sudarshan?
(1) Sunanda (2} Tuisi {3) Natini |4) Praima
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43, Who sal opposite o Tarun?
i) ‘Nalini (2] Arushl () Tulsi |4} Prarna

94, Which pair is occupying diagonally opposite ends?
(1) Taruh and Arushi 2y Tarun and Prama
(3) Tulsi and Atul (41 Arushiand Prema

Dln'_ﬂlmm (Questivns BR97) Study the informsitlon below 1o sanswer these e i, _

Dathi is known for, spacialty haspitals, where highly specialzed doctors are available with modarn
l=chmcal medical gadgets aided by specal computers. Patients: with complicated ailments come frm
far and near for treatment. Some.of thesa hospitais have performed extra-ordinary surgical opermations:
As the cost of trealmentand surgical oparations are.cheaper in fndia than in westam countres. panents
come o indie for treatment.

A few sanously sick patients were asked to opt for hespitals they would like 1o ke treated in. Thair
worder of prefersnces was as lollows:

o Palient A Cungaram, AIIMS. Apolle & Escorts

. Patient D: Bairn, Resepreh and Reforral (R&R)L Apollo & Sofdanung

«  Pabient O Holy Family. Apolln, AUMS & Batra

= Panegnt [y R&R, Goangamm, Snfd.mjung & Escorts

«  Palient E: Spldarjung, Holy Family. Balm & ALIMS

95, Who does not like w0 g0 1o Gangamm and Apello b prefiers ALMS and: Safclimung I-'!u_z-g'nml'?
{1 E in B hC (4) B3

0.  Whach puir 13 keen for. Research and Referml (R&R) and Safdleguag bt nor for Holy Famaly amd
ALIMST

(17 Al B {2y 13 ond [) O ommd: E 14 Ty and E

97, Which pair prefem ALMS ond Apollo’ bot fot R&ER and Raldarjung?
(1] 'B"and (2) € amad D [3y A il (oA amd E

Directions (Questipns 98-100): Study the information below 0 amswer (hese gquestions.

Soven persons nomely Mo, Thlwy, Modan, Jogan Vieidor, Reghobir ond Works wee ‘good  friends
and are stpdying in MBA, FEagihecring mod inedical Goumes Three ure dilpg MBA: colirse, W are in
engineerne course mnd another two ace in medical course Each of them hae 2 very  distingt  and
fviurite colour shodee moging from Blne, Red, Yellow, White, Hlsek, Pink sod Brows bul no:
secessily in e sarse order. None doing MBA Nkes ofthier red or black. Madan {5 dolng ensinecring
and be likes Blie, Raghubar b doing medical and Tikes brown. Jagan v doing MBA and Hkes yellow
Prem whit doss pot like ted Ik in the saine discipline of Raghulbir. Titkey {s in e same discipline of
Madim, Virender dues mot like pink.
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98, Which of the following groups |s doing MBA?
(1) Jagan, Raghublr, Madar (2) Virendar, Warls, Tirkey
{3) Jagan, Virender, Waris (4] Jagan. prem, Raghubir

49, What |s the colour- combination cholce of those who are in medical discipline?
1) Brawn amd pink (2} Black @nd while
(3) Black and brown {4} Yellow and black

100, Which colour does Virendar like?
(1) Yellow (2) Pink (37 White (4) Brown,

Directions (Questions 101-103): Study the Information bdlow 1o answer these questions,

L M, N, Q. P are five iImportant aities of our country out of which, three are industrisl cites; two are:
poit citins, one s 8 hill station @nd three cilles Have a university each. Evary bl elly has a univarsily
but has no porl. 'G" is ot a port city. No port city has o university, ‘M s a port clty, Twa industrial
ailies have universilles and "N’ and ‘0" are nol indusirial cilies. The Industrial cllies with universilies
don'l have ports. None of the industrial cities §s a hill statinn, ‘0" s a hill stalion and P has & unlversity.

1. Which city has industriss as well 88 a port bul does nol hava a univarsity?
(1)L and O (2) © and M (3} M (4)'N

X, Which ofy has neither industries nor & university nor a hill station?
{1 M (2} M {31k HP

103, ‘Which two cities have ports?
(1) L and M {(Z3M and N [3) N and O [y N and P

Mirections (Questivns 104111y Each of theve questhons has s stiatemsent bused on the preceding
passage. Evaluate each statement and mark answer as
(1) 41he statement Is a Major Objective In making the dacision: one of tha goals soughl by the
decision maker. '
{2) Ifthe stalemen! iz & Major Faclor in making the declsion; an aspect of Ihe problem, specilically
mentioned In the passage, which fundamentally alfects andfor determines the decision.
(3) If the statement 5-a Minor Faolor In 'making he décision! a less impartant gisrment bearing
on or affecting @ Major Fadlor, rather than & Major Objective directly,
(&) i the statenent k2 a Major Assumplion in making the decision: & projecton of supposition
arrived al by Ine dacision maker belors considering the faclor and allsrnalive.
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Passage-1

Britannte lndusings has sesn ds margins rise in the current fiscal despite nsing costs of nputs, according
to a tap company offictal, The company hopes to improve its mergine furthar in the last quariar through
& tight leash on cosls-and Il necessary, by increasing produal prices. "We had operaling margins of 4.3
per cenl |ast year. We nave already posted relatively higher margins so far gunng this year. We intend
e grow it further. through & combination: of cost control measUres and also by passing on the effect
Gf price hike lo the consurmers 10 soma axtanl if necessary " Ihe category direior (healih and wellness),
Britannia: lold newspersons hers on Salurday. Britannia:has hiked prices of s products a'oss vanious
‘categorias by aboul 6 per cent over the last nine 'months. While the hike has been steeper lo the fune
of B-10 per cepl on premium calegory biscuits, It has been 4-5 per cenl in the staple fing. "We will
iry o hold prices ol curren| levels. However, even [ we have 1o raige ||, then the hike will ba much
less than whal has happenad so far” Britannia holds about 33 per cent share i the otal bisculs markes
i the country pegged al 15,000 crore. The company's health and wellnass sagment accounts for
almasl 50 per cenl af s el wrnover which slood a1 4 800 crore a5 anl Marph 31, 2011, The adull
haalth category accounis for a mere 3 per cont of the total health and waliness segment of the company
dl priesam

104, The incraase n prices would be Ess than befare,
IN5. Ending the cumanl finansial yoar with highar margins.
106, Tha fact thal highar margins have aiready been posted i the first three quarters of the yoar.

107, Brilannia had pperaling margins of 4.3 pet cenl las! year.

Passuge-11

Tanzifco, a clazning company in Kuwait and the Gulf, |s entering India by undartaking clsaning and
wasle management contracts. The company Tas floaled & sgparats enlily- Tanzifoo Cledining and Wasle
Managamanl Services Pyl LEL - In which 70 per eanl will be hald By Tanzifeo and 30 per cent by
g few Indian privala players. The chairman of Tanzifco sald his company was scouting for waste
management contracts n various cllies and towns. Besides waste management, It plans 1o lake up
cleaning contracls in hospltals, nofals, malls and IT bulldings. At present, Tarizifcd is m talks with
authorlties for maintenance of Hyderabad and Delhd alrports, The company has tralned professionals
for uﬂde:lahrr-g cleaning of glass nladdirngﬁ uged In n-gm Enﬂll:lingﬂ It also trades in hbg]h quality
tleaning agents, he added. Tanzifeo, he said, was one of the cleaning companies which were awardad
a multkmillion dinar (Kuwail cureney) contraat by the Kiuwait Munieipality for waste management
sarvices for 5 yaars, The group now employs mare than 30,000 peaple acress the region with operalions
N Kihwall, Qatar. Dubai. Aty Dhabi, Al Aln, Batwain, Egypt and Oman. The group's total lumover s
aboutl $200 millian,

108, Cieaning and malnienarnce requirernents of Hyderabad and Delhi almorts,

109, The company has {rained prafessionals Tor underaking ceaning of glass claddings it Kigh-rise
buildings
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1. Expanding Tanzifeo's oparations into India.

111, Tanzifeo would replicale its success of Kuwall and the Guif. in India also.

Dircctions (Questions 112 < 115} Each el these gquestions consists ol o stntement ollowed by twa
conrses of actlon pembered [ oand 1L Mark answer as

{1} il only course of achoen | fallows,
(21 # only sourse of attion 1| fallbws,
{3) it elther course of action | or Il follows,

{4y f neither course of action | nor If follbws.

T1Y. Statements : Every ygar a large number of davolees dio due to severs cold on thair way o' the
shrine Incatad at the fop of the mountain renge

Coorses. of action

I. The devitess should ba discouraged to visit the shine withaut havirg proper warm clolthes
and olhes amenities,

Il The governmen should provide warm clothes and sheller 1o all the devatees vislling the
shrine

T2, Swntements @ Many madical and sngingaring gradustes are (aking up lobs In adminlstrative
services and In hanks,

‘Courses of netion

1. Al the professionats should bé adviset] o réfrain from taking up such jobs.

I, The government should appeint & committes to find out the reasons for these prifessionals
taking up such jobs and fo suggest remedial measures.

104, Sratements @ A farge number of students have besn caughl using undair means during the: final
yoor degras axamination.

Corses af  action

. Al these students should permanently be debarred from appearing for any examination
conductsd by he authority.

1. The guardians of these students should be called by the authorily to inform them that any
sych behbavier in future will nol be tlolergtad
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115, Satenents : Many villages in the disiricl are washed away by the flood water randering all the
villagers homaless

Courses of daceifon

I The district administratlon should Imm pdialaly send a raligl team with food and other supplles
tothe affected areps.

. The people lving i tha nelghbounng villsges should be avacuated o safer places.

Mrections (Questions 116 - 118): Each question Is fallowed by arguments numbered § and 1L Mark
unswer ny

(1) W only argument | i strong

(2} if only argument Il is strong.

(3) f sither argument | or Il Is strong.
(4) it neither argument | nor Il i strang,

Tth. Should the fenure of the President e longer?

Arpumenis

|,  No, the-Fregident of India is nof-axedutive head Therafore, there is no aeed o extend his
lenlins.

. Yes. it will provide-an opporunily o Prasident 1o guide the:-Govemmiantl to fulfll the long
termn objactives.

117, Should gl the infrastructural development projecls nindia be handed over 10 the privale sector?
Arguments
. No; the private sector antitigs are nil equipped o handle stch projacts.
. Yes, such projects are handled by prvate ssotor in the developing countries

L18, Should {here be differential rate of income tax for different inoome levels?
Arguinenis

| Yes, this is justified and thoss who eam less wiil be required to pay lowsr tate of tax
comparison to those who earn more.

. No, this goes agalnst the basic principle of equality among all the tax pavers
Directions (Questions 119-120); Choose the odd word oui.
Y. (1) physics {2) chemisiry (3} geography (4) botany

120, (1) hostel (2] hotsl {3) Inn (4) club
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According to World Bank estimaltes announced in January 2013, India's sconomy could expand
in 2013 by around

(1) & per cant. {2} BB per oent,
{3) 7.8 per cent. (4) & per canl.

. Ad line ‘Good pecple to bank with' is linked with which bank?

(1) Bank of india (2) Allshabad Bank
(3) Indian Bank {4) Union Bank af India
IRDA stands for

(1) Indian Rural Deveiopment Aulhorily.
{2) Insurance Requlations and Bevelopment Authority,
(4} Inswrance Hules and Dediding Adthority,

{4) Ihsurance Reguiatory Develbpment Authority.

‘Which of the following |5 the largest district of Gujaral siate?
(1) Jamnagar {(#) Ahmadabad
{3) Kuteh (4) Bhavnagar

5. Kudankulam nuclear power plant In Tamil Nadu has boen built |n collaboration of whitch colntry?

(1) Russia {2} France

(2) Ausiralia {4) Japan

The Indian govamment launched the first phase of Direct (Cash) Benefit Transfer (DBT) scheme
on

|1)'28 Jan 2012: (2] 15 Aug 2012

(3) 01 Jan 2013 (4) 25 Dec 2012,

. Tata Institute of Fundamental Rasearch is locatad at which place?

{1) Hyderabad (2) Ahmedabad
(3) Bangalore (4} Mumbal

hitpazioxams fresharsnow comy/



12“’-

129,

13,

131.

132,

133.

134.

135,

Sponsored by:

The Hi:gh Caurt of Ulirakhand is locatad al
{11 Dehradun (21 Nainnat

[3) Paurl. (4) Hardwar,

was the chiel gusst at India's B4th Republic Day Parade.
{1) Qaboos Said bin Said- Sultan of Oman
(2) Jigme Khesar Mamgyel Wangchuck-King of Bhutan
(3) Abdullan bin Abdutsziz al-Saud-King of Saudi Arabia
{4y Nane of these

In Jandary 2013, Presidant's rule fas been imposed in which state of India?

(1) Manipur (2} Jharkhand
{3) Nagatand 14) Chhattisgarm

The Indian railway minisiry has hiked |he farey of all slgssesin January 2013 1o gerofale
crore @ year.

(1) 6800 (2] 5,500 (3) 4,000 (4} 7,800

Headguarters of SEBI s locatsd a1

(1) Deaih (2) Bangalore
(3) Mumbal (4} Hyderahad

Tourism Board of which stale has the punch line as ‘Full of Surprlses'?
{1} Jharkhand {2} Delhi
{3) Karnataks {4} Challisgarh

Allen Bually I3 a brand of appetal from which business house?
{1} Lalbhal Group {2} Aditya Birfla Group
(3) Relignce Group (d4) None of thesa

"Servo lubricanis’ have been lsunched by which of the following oll companies?
(1} Bhara! Patroleum (2] Indian O
(3) Hindustan Petrolewm {(4) Rellance Petraleum

. Which company has recently launched two motoreycie models called Pantero and Centuro?

(1) Yamaha (2) Tvs
(3) Suarukl (4) Mahindra and Mahindra
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Inspire the Next' s the puneh line of which eompany?
(1) Lanove (2} Dell
(3} Hitach 4) Sony

Gail India Lid. hag announced i January 2013, the commissaning of an LNG (Liguilied Nalurial
Eag) lerminal al

{1)' Dabhel Ratnagii (Maharashtra), {2} Dahej, Gujaral

(3) Hazira, Gujarat (4} Koohi, Kerala.

Whicty Indian has become the President of 'Dall Sarvices' and also the part of Deil’s globai
axstulive leadership lsam?

(1) Shantanu Narayan (21 WK Mathews

13) Eanjit Shatan [4) Suresh Vaswan

Who has been apponted as the Chairman and Maneging Director (CWMO) of Bank of BarodaT
(1) Raj Kumar Goysl (2} S5 S Mundia

(3) R K Duboy (47 Nona of thess

Vancouver is rapked as one of the most livable cities’ worldwide and is also 8 beautifl laurist
destnation jocated n

(1), UBA (#) France
(3) England {4} Canads

Which of the following is an Itallan Car maker?
(1) Volkswagen (2) BMwW
(3) Fiat (4) Audi

Which Indian business group has brought UK's ploneer retall brand ‘Super Dry' o India racently?
(1) Godrs] Graup (2) Tata group
{3) Reliance Industriss (4] None of these

Starbucks, the fponic Cafe brand has recantly opengd |fs first store in which oity of India?
(1) Délni {2) Kolkata
{3} Bangalafa (4} Mumbai
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Music album ‘Gangrarm Styla' became the blgges! inlernat sensation during 2012 1t was refeassd
by the musiian Psy, Which country he belongs to?

(1) Indonssia (2} China

i3) Bouth Korea 14y Japan

Elle s & wall known |ife style brand lmunched by Lagarders Active Group belgngs fo

{1) France (2) Haly
(3) USA (4) Australla

Which of the fallowing isfare car modal(s) from French car maker ‘Renaull’?

(1) Scala 12) Flusnce
(3) Pulse (4) All these

Eric Sehmidt & prasently the Chalrmar of which arganization?

(1) Hotmsail 12} Google

A3} Migrgsof 14) Wote of |Hess

‘Make Betieve' s the punch line of which MNC?

{1) Phillips 12) Panasonic
[3) Sony [4) TosHiba

Whio won (he best lamale actor award In 70Ih asnual Golden Glabe Awards organized In January
20137
(1) Jessica Alba (2) Halie Bamy

(3) Jessica Chastan (4) Anne Halhaway

‘Harley Davidson’ is 8 glebally endunng brand icon of which automaobile industry?

(1) Spors Car (2) Bus
(3) Truck (¢} Motor Cycle

Which of the followng is the coreot sequanae in ferms of east fowing nvers from North 1o South
i India?

(1) Mahanadl, Godavarl, Krishna, Pennar, Kaver|
(2} Mahdnadl, Krishna, Godavan, Pennar, Kaver
{3) Mahanadl, Godavari, Krishna, Kavar, Pennar
{4) Mahanadl, Krishina, Godavar, Pannar, Kaverl
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The full form of SIM.Is

(1) Subscriber's Identity Module
{2) Subscriber's ldentity Machine
(3) Salf Identity Machins

(4) Self |dantity Module

Match List-f with List-ll and select the corret! answer from the codes given below lhe lists

List-] List-l

(Newspapar) (Language)

A Bharal Mitra I Bengall

B Rashiramala I Gujarsll

C  Prajamitta I Hindi

D Nayak IV Marath)
A B C D

(11 | ]| I\ 1]

2y | I | v

{3y m v I I

@eowe

Which af the lolluwing & correctly matched?

l.akes l.ocations:
(1) Lonar - Madhya Pradish
(2) Nakki - Gujarat
{3) Kolleru - Andhra Pradesh
(4) Pulicat - Kerala

Which one of the following s not correctly matched?
(11 Nanga! Dam - Satlyj River

(2) Sardar Sarovar Project - Narmada River

(3) MNagarun Sagar - Godavan River

(4) Hirakud Dam - Mahanadi

. Indian Partiament consists of

(1) Lok Sabha and Rajya Sabha
(2) Lok Sabha, Rajva Sabha ard Prime Minister
(3) Speakerand Lok Sabha
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158, Money Bl Is Intraduced in
(1) Lok Sdbha 12} Rajya Sabha
{31 Joinl sitting of both the Houses {4} None of the above

159, Which ameng the lallowing funclions as a codrdinator batwiien the Planning Commission and
Stale Gowammenls?

(1) MNational integration Council
{2) Finance Commiksion

{3) National Developman! Counsil
(4} None of the above

160, Whial & the lghure of the Chiel Eleclon Commigaianar of Indla?
{1} Five Years
(2) During the plessume of the Presidan!
(3) Six years n-r till the age of 65 years whichever 18 sarier
{4) Fwve Years or till the age of 65 years whichever is eatller?
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INSTRUCTIONS FOR CANDIDATE

1. Please donotopen Lhis bookiet untll you are told to do s0.

Fill up the necessary information in the space provided on the cover of the Question Booklet and
the QMR Answer Sheeal héafora commencamarnt of tha 1ast

The duration of the test is 2 hoirs and 30 minutes. There are 160 queshons.

e

Please check for the completeness of the Guastion Booklat immadiately after apening,

th

Each question has fouroptions marked (1),(2), (3) and (4},
6. Answersarelobe markedan the OMR Answer Sheel, which is provided separalely.

7.  Cheose the gorrect option and darken the circle completely, corresponding ta (1), (2}, (3) or (4)
ageinst the relevant queshon number

% Useonly HB pencil to darkan the circle for answearing.

Please do noldarkan more than one circle against any queslion, as scannerwill read such
marking as wrong answer,

10, Ifyouwishtochangs any answer, erase complalely the one already marked and darken the fresh
circle with HB pencil.

1. Eachqueslion carries one mark,

12. There is No Negative Marking.

13, Rough work, if any, Is to be done on the question booklat only, No separate sheet will be
providedfusad for Raudgh Work.

14. Calculator, Electranic gadgets, Mabile ste, are not permitted inside the examination hall
15, Candidale seeking, racaiving andfor giving assistance during the test will be disqualified

16, Appropriate civilferiminal proceedings will be instituted against the candidate taking ar attampting
to take this booklet or part of it oulside the examination hall,

I7. The right to exclude any question(s) from final evaluation rests with the testing
authority

18. Do not seek clarflication on any item in the question booklet fram the test invigilator.
Lise your best judgement

THIS QUESTION BOOKLET AND THE OMR ANSWER SHEET ARE

TO BE RETURNED ON COMPLETION OF THE TEST
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